# Four functions and sixteen Eisenstein series arising from Ramanujan's ${ }_{1} \psi_{1}$ function 

Heung Yeung Lam<br>Institute of Information $\&$ Mathematical Sciences<br>Massey University at Albany, Auckland. New Zealand<br>h.y.lam@massey.ac.nz

In this paper we present sixteen series and show how they arise out of Ramanujan's ${ }_{1} \psi_{1}$ function. First, we consider four special cases of Ramanujan's ${ }_{1} \psi_{1}$ summation formula, which we shall call $f_{0}, f_{1}, f_{2}$, and $f_{3}$. Then we obtain another twelve functions by applying three different cases to $f_{0}, f_{1}, f_{2}$, and $f_{3}$. From these sixteen functions we obtain sixteen Eisenstein series and their corresponding $q$-series expansions. Several of the $q$-series expansions can be found in (1), (3), (7)-(12). Glaisher (5) and Zucker (13),(14) presented the complete set of sixteen series. The significant point is that four functions and sixteen Eisentein series all originate from one source, namely Ramanujan's ${ }_{1} \psi_{1}$ function.

## 1 Introduction

Ramanujan gave the famous formula (1.1), now called the Ramanujan ${ }_{1} \psi_{1}$ summation formula ((11), Chapter 16, Entry 17). G. H. Hardy ((6), p. 222) described it as "a remarkable formula with many parameters". There are a number of proofs for the equation (1.1), for example (2), (3), and (15). Ramanujan's ${ }_{1} \psi_{1}$ summation formula is

$$
\begin{align*}
& \prod_{k=1}^{\infty} \frac{\left(1+z q^{2 k-1}\right)\left(1+q^{2 k-1} / z\right)\left(1-q^{2 k}\right)\left(1-\alpha \beta q^{2 k}\right)}{\left(1+\alpha z q^{2 k-1}\right)\left(1+\beta q^{2 k-1} / z\right)\left(1-\alpha q^{2 k}\right)\left(1-\beta q^{2 k}\right)} \\
= & 1+\left\{\frac{1-\alpha}{1-\beta q^{2}} q z+\frac{1-\beta}{1-\alpha q^{2}} \frac{q}{z}\right\} \\
& +\left\{\frac{(1-\alpha)\left(q^{2}-\alpha\right)}{\left(1-\beta q^{2}\right)\left(1-\beta q^{4}\right)}(q z)^{2}+\frac{(1-\beta)\left(q^{2}-\beta\right)}{\left(1-\alpha q^{2}\right)\left(1-\alpha q^{4}\right)}\left(\frac{q}{z}\right)^{2}\right\} \\
& +\left\{\frac{(1-\alpha)\left(q^{2}-\alpha\right)\left(q^{4}-\alpha\right)}{\left(1-\beta q^{2}\right)\left(1-\beta q^{4}\right)\left(1-\beta q^{6}\right)}(q z)^{3}\right. \\
& \left.+\frac{(1-\beta)\left(q^{2}-\beta\right)\left(q^{4}-\beta\right)}{\left(1-\alpha q^{2}\right)\left(1-\alpha q^{4}\right)\left(1-\alpha q^{6}\right)}\left(\frac{q}{z}\right)^{3}\right\}+\ldots, \tag{1.1}
\end{align*}
$$

where $|\beta q|<|z|<1 /|\alpha q|$ and $q=e^{i \pi \tau}, \operatorname{Im}(\tau)>0$, and so $|q|<1$. The Jordan-Kronecker function is a special case of the series on the right hand side of (1.1) and is defined as follows.
((15), p. 37) Let

$$
\begin{equation*}
F(a, b)=\sum_{n=-\infty}^{\infty} \frac{b^{n}}{1-a q^{2 n}} \tag{1.2}
\end{equation*}
$$

where $\left|q^{2}\right|<|b|<1$ and $a \neq q^{2 k}, k=0, \pm 1, \pm 2, \ldots$. Taking $\alpha=1 / a, \beta=a, z=-a b / q$, and divide by $1-a$ in (1.1) gives

$$
\begin{equation*}
F(a, b)=\prod_{n=1}^{\infty} \frac{\left(1-a b q^{2 n-2}\right)\left(1-\frac{q^{2 n}}{a b}\right)\left(1-q^{2 n}\right)^{2}}{\left(1-a q^{2 n-2}\right)\left(1-\frac{q^{2 n}}{a}\right)\left(1-b q^{2 n-2}\right)\left(1-\frac{q^{2 n}}{b}\right)} \tag{1.3}
\end{equation*}
$$

## 2 Sixteen series

Let

$$
\begin{align*}
& f_{0}(\theta)=\frac{1}{2} \cot \frac{\theta}{2}+2 \sum_{m=1}^{\infty} \frac{q^{2 m}}{1-q^{2 m}} \sin m \theta=\frac{1}{i} F\left(e^{v}, e^{i \theta}\right)\left[v^{0}\right]  \tag{2.4}\\
& f_{1}(\theta)=\frac{1}{2} \cot \frac{\theta}{2}-2 \sum_{m=1}^{\infty} \frac{q^{2 m}}{1+q^{2 m}} \sin m \theta=\frac{1}{i} F\left(e^{i \pi}, e^{i \theta}\right)  \tag{2.5}\\
& f_{2}(\theta)=\frac{1}{2} \csc \frac{\theta}{2}+2 \sum_{m=0}^{\infty} \frac{q^{2 m+1}}{1-q^{2 m+1}} \sin \left(m+\frac{1}{2}\right) \theta=\frac{e^{\frac{i \theta}{2}}}{i} F\left(e^{i \pi \tau}, e^{i \theta}\right)  \tag{2.6}\\
& f_{3}(\theta)=\frac{1}{2} \csc \frac{\theta}{2}-2 \sum_{m=0}^{\infty} \frac{q^{2 m+1}}{1+q^{2 m+1}} \sin \left(m+\frac{1}{2}\right) \theta=\frac{e^{\frac{i \theta}{2}}}{i} F\left(e^{i \pi+i \pi \tau}, e^{i \theta}\right) . \tag{2.7}
\end{align*}
$$

Here $F\left(e^{v}, e^{i \theta}\right)\left[v^{0}\right]$ means let $a=e^{v}$ in (1.2), then expand in powers of $v$ and extract the constant term. Equations (2.5) - (2.7) are doubly periodic and are called elliptic functions; equation (2.4) is not doubly periodic and is called the zeta function. These series all converge for $-\operatorname{Im}(2 \pi \tau)<\operatorname{Im} \theta<\operatorname{Im}(2 \pi \tau)$. Replacing $\theta$ with $\theta+\pi, \theta+\pi \tau$, and $\theta+\pi+\pi \tau$ in (2.4) $-(2.7)$, respectively, and simplifying, gives

$$
\begin{aligned}
f_{0}(\theta+\pi) & =-\frac{1}{2} \tan \frac{\theta}{2}+2 \sum_{m=1}^{\infty} \frac{(-1)^{m} q^{2 m}}{1-q^{2 m}} \sin m \theta, \\
f_{0}(\theta+\pi \tau) & =\frac{1}{i}\left[\frac{1}{2}-2 \sum_{m=1}^{\infty} \frac{q^{m}}{1-q^{2 m}} \cos m \theta\right], \\
f_{0}(\theta+\pi+\pi \tau) & =\frac{1}{i}\left[\frac{1}{2}-2 \sum_{m=1}^{\infty} \frac{(-1)^{m} q^{m}}{1-q^{2 m}} \cos m \theta\right], \\
f_{1}(\theta+\pi) & =-\frac{1}{2} \tan \frac{\theta}{2}-2 \sum_{m=1}^{\infty} \frac{(-1)^{m} q^{2 m}}{1+q^{2 m}} \sin m \theta, \\
f_{1}(\theta+\pi \tau) & =\frac{1}{i}\left[\frac{1}{2}+2 \sum_{m=1}^{\infty} \frac{q^{m}}{1+q^{2 m}} \cos m \theta\right], \\
f_{1}(\theta+\pi+\pi \tau) & =\frac{1}{i}\left[\frac{1}{2}+2 \sum_{m=1}^{\infty} \frac{(-1)^{m} q^{m}}{1+q^{2 m}} \cos m \theta\right],
\end{aligned}
$$

$$
\begin{align*}
f_{2}(\theta+\pi) & =\frac{1}{2} \sec \frac{\theta}{2}+2 \sum_{m=0}^{\infty} \frac{(-1)^{m} q^{2 m+1}}{1-q^{2 m+1}} \cos \left(m+\frac{1}{2}\right) \theta \\
f_{2}(\theta+\pi \tau) & =2 \sum_{m=0}^{\infty} \frac{q^{m+\frac{1}{2}}}{1-q^{2 m+1}} \sin \left(m+\frac{1}{2}\right) \theta \\
f_{2}(\theta+\pi+\pi \tau) & =2 \sum_{m=0}^{\infty} \frac{(-1)^{m} q^{m+\frac{1}{2}}}{1-q^{2 m+1}} \cos \left(m+\frac{1}{2}\right) \theta \\
f_{3}(\theta+\pi) & =\frac{1}{2} \sec \frac{\theta}{2}-2 \sum_{m=0}^{\infty} \frac{(-1)^{m} q^{2 m+1}}{1+q^{2 m+1}} \cos \left(m+\frac{1}{2}\right) \theta \\
f_{3}(\theta+\pi \tau) & =-2 i \sum_{m=0}^{\infty} \frac{q^{m+\frac{1}{2}}}{1+q^{2 m+1}} \cos \left(m+\frac{1}{2}\right) \theta \\
f_{3}(\theta+\pi+\pi \tau) & =2 i \sum_{m=0}^{\infty} \frac{(-1)^{m} q^{m+\frac{1}{2}}}{1+q^{2 m+1}} \sin \left(m+\frac{1}{2}\right) \theta . \tag{2.8}
\end{align*}
$$

## 3 Sixteen Eisenstein series

The method used in this section is similar to the one used by Glaisher (5) with the exception that our notation is simpler. We can rewrite the results of (2.4) - (2.7) in terms of trigonometic functions, namely the cotangent and the cosecant as follows

$$
\begin{align*}
\frac{1}{2} \sum_{n=-\infty}^{\infty} \cot \left(\frac{\theta}{2}+n \pi \tau\right) & =\frac{1}{2} \cot \frac{\theta}{2}+2 \sum_{m=1}^{\infty} \frac{q^{2 m}}{1-q^{2 m}} \sin m \theta=f_{0}(\theta) \\
\frac{1}{2} \sum_{n=-\infty}^{\infty}(-1)^{n} \cot \left(\frac{\theta}{2}+n \pi \tau\right) & =\frac{1}{2} \cot \frac{\theta}{2}-2 \sum_{m=1}^{\infty} \frac{q^{2 m}}{1+q^{2 m}} \sin m \theta=f_{1}(\theta) \\
\frac{1}{2} \sum_{n=-\infty}^{\infty} \csc \left(\frac{\theta}{2}+n \pi \tau\right) & =\frac{1}{2} \csc \frac{\theta}{2}+2 \sum_{m=0}^{\infty} \frac{q^{2 m+1}}{1-q^{2 m+1}} \sin \left(m+\frac{1}{2}\right) \theta=f_{2}(\theta) \\
\frac{1}{2} \sum_{n=-\infty}^{\infty}(-1)^{n} \csc \left(\frac{\theta}{2}+n \pi \tau\right) & =\frac{1}{2} \csc \frac{\theta}{2}-2 \sum_{m=0}^{\infty} \frac{q^{2 m+1}}{1+q^{2 m+1}} \sin \left(m+\frac{1}{2}\right) \theta=f_{3}(\theta) \tag{3.9}
\end{align*}
$$

The Eisenstein series are defined by ((4), p.376),

$$
E_{2 k}(\tau)=\sum_{(m, n) \neq(0,0)} \frac{1}{(m+n \tau)^{2 k}}
$$

where $k=2,3, \ldots$ Expanding the left hand side into partial fractions, then expanding both sides of
the expression (3.9) in ascending powers of $\theta$, and equating the coefficients of $\theta^{2 t-1}$, we find

$$
\begin{aligned}
\sum_{(m, n) \neq(0,0)} \frac{1}{(2 m+2 n \tau)^{2 t}} & =(-1)^{t-1}\left[\frac{B_{2 t}}{2 t}-2 \sum_{m=1}^{\infty} \frac{m^{2 t-1} q^{2 m}}{1-q^{2 m}}\right] \frac{\pi^{2 t}}{(2 t-1)!}, \\
\sum_{(m, n) \neq(0,0)} \frac{(-1)^{n}}{(2 m+2 n \tau)^{2 t}} & =(-1)^{t-1}\left[\frac{B_{2 t}}{2 t}+2 \sum_{m=1}^{\infty} \frac{m^{2 t-1} q^{2 m}}{1+q^{2 m}}\right] \frac{\pi^{2 t}}{(2 t-1)!}, \\
\sum_{(m, n) \neq(0,0)} \frac{(-1)^{m}}{(2 m+2 n \tau)^{2 t}} & =\frac{(-1)^{t}}{2^{2 t-1}}\left[\frac{\left(2^{2 t-1}-1\right) B_{2 t}}{2 t}+2 \sum_{m=0}^{\infty} \frac{(2 m+1)^{2 t-1} q^{2 m+1}}{1-q^{2 m+1}}\right] \frac{\pi^{2 t}}{(2 t-1)!}, \\
\sum_{(m, n) \neq(0,0)} \frac{(-1)^{m+n}}{(2 m+2 n \tau)^{2 t}} & =\frac{(-1)^{t}}{2^{2 t-1}}\left[\frac{\left(2^{2 t-1}-1\right) B_{2 t}}{2 t}-2 \sum_{m=0}^{\infty} \frac{(2 m+1)^{2 t-1} q^{2 m+1}}{1+q^{2 m+1}}\right] \frac{\pi^{2 t}}{(2 t-1)!} .
\end{aligned}
$$

Similarly, we can get another set of twelve results by applying the same technique to (2.8) :

$$
\begin{aligned}
& \sum_{m=-\infty}^{\infty} \sum_{n=-\infty}^{\infty} \frac{1}{((2 m-1)+2 n \tau)^{2 t}}=(-1)^{t-1}\left[\frac{\left(2^{2 t}-1\right) B_{2 t}}{2 t}-2 \sum_{m=1}^{\infty} \frac{(-1)^{m} m^{2 t-1} q^{2 m}}{1-q^{2 m}}\right] \frac{\pi^{2 t}}{(2 t-1)!}, \\
& \sum_{m=-\infty}^{\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^{n}}{((2 m-1)+2 n \tau)^{2 t}}=(-1)^{t-1}\left[\frac{\left(2^{2 t}-1\right) B_{2 t}}{2 t}+2 \sum_{m=1}^{\infty} \frac{(-1)^{m} m^{2 t-1} q^{2 m}}{1+q^{2 m}}\right] \frac{\pi^{2 t}}{(2 t-1)!}, \\
& \sum_{n=-\infty}^{\infty} \sum_{m=-\infty}^{\infty} \frac{(-1)^{m}}{((2 m-1)+2 n \tau)^{2 t+1}}=\frac{(-1)^{t-1}}{2^{2 t+1}}\left[E_{2 t}-4 \sum_{m=1}^{\infty} \frac{(-1)^{m}(2 m-1)^{2 t} q^{2 m-1}}{1-q^{2 m-1}}\right] \frac{\pi^{2 t+1}}{(2 t)!}, \\
& \sum_{m=-\infty}^{\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^{m+n}}{((2 m-1)+2 n \tau)^{2 t+1}}=\frac{(-1)^{t-1}}{2^{2 t+1}}\left[E_{2 t}+4 \sum_{m=1}^{\infty} \frac{(-1)^{m}(2 m-1)^{2 t} q^{2 m-1}}{1+q^{2 m-1}}\right] \frac{\pi^{2 t+1}}{(2 t)!} ; \\
& \sum_{m=-\infty}^{\infty} \sum_{n=-\infty}^{\infty} \frac{1}{(2 m+(2 n-1) \tau)^{2 t}}=\left[2(-1)^{t} \sum_{m=1}^{\infty} \frac{m^{2 t-1} q^{m}}{1-q^{2 m}}\right] \frac{\pi^{2 t}}{(2 t-1)!}, \\
& \sum_{m=-\infty}^{\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^{n}}{(2 m+(2 n-1) \tau)^{2 t+1}}=\left[2 i(-1)^{t} \sum_{m=1}^{\infty} \frac{m^{2 t} q^{m}}{1+q^{2 m}}\right] \frac{\pi^{2 t+1}}{(2 t)!}, \\
& \sum_{m=-\infty}^{\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^{m}}{(2 m+(2 n-1) \tau)^{2 t}}=\left[\frac{(-1)^{t}}{2^{2 t-2}} \sum_{m=1}^{\infty} \frac{(2 m-1)^{2 t-1} q^{m-\frac{1}{2}}}{1-q^{2 m-1}}\right] \frac{\pi^{2 t}}{(2 t-1)!}, \\
& \sum_{m=-\infty}^{\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^{m+n}}{(2 m+(2 n-1) \tau)^{2 t+1}}=\left[\frac{i(-1)^{t}}{2^{2 t-1}} \sum_{m=1}^{\infty} \frac{(2 m-1)^{2 t} q^{m-\frac{1}{2}}}{1+q^{2 m-1}}\right] \frac{\pi^{2 t+1}}{(2 t)!} ; \\
& \sum_{m=-\infty}^{\infty} \sum_{n=-\infty}^{\infty} \frac{1}{((2 m-1)+(2 n-1) \tau)^{2 t}}=\left[2(-1)^{t} \sum_{m=1}^{\infty} \frac{(-1)^{m} m^{2 t-1} q^{m}}{1-q^{2 m}}\right] \frac{\pi^{2 t}}{(2 t-1)!}, \\
& \sum_{m=-\infty}^{\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^{n}}{((2 m-1)+(2 n-1) \tau)^{2 t+1}}=\left[2 i(-1)^{t} \sum_{m=1}^{\infty} \frac{(-1)^{m} m^{2 t} q^{m}}{1+q^{2 m}}\right] \frac{\pi^{2 t+1}}{(2 t)!}, \\
& \sum_{m=-\infty}^{\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^{m}}{((2 m-1)+(2 n-1) \tau)^{2 t+1}}=\left[\frac{(-1)^{t-1}}{2^{2 t-1}} \sum_{m=1}^{\infty} \frac{(-1)^{m}(2 m-1)^{2 t} q^{m-\frac{1}{2}}}{1-q^{2 m-1}}\right] \frac{\pi^{2 t+1}}{(2 t)!}, \\
& \sum_{m=-\infty}^{\infty} \sum_{n=-\infty}^{\infty} \frac{(-1)^{m+n}}{((2 m-1)+(2 n-1) \tau)^{2 t}}=\left[\frac{i(-1)^{t}}{2^{2 t-2}} \sum_{m=1}^{\infty} \frac{(-1)^{m}(2 m-1)^{2 t-1} q^{m-\frac{1}{2}}}{1+q^{2 m-1}}\right] \frac{\pi^{2 t}}{(2 t-1)!} .
\end{aligned}
$$

It is easy to see the sixteen series form one system. The numerator is either $1,(-1)^{n},(-1)^{m}$, or $(-1)^{m+n}$; and the denominator contains either both even numbers, one odd and one even number, or both odd numbers. Zucker (13) mentioned without proof that the sixteen series can only be found in closed form for either even or odd, but never for both. We now have a better understanding of this from the way we derived the sixteen series.

## References

[1] C. Adiga, A Study of Some Identities Stated by Srinivasa Ramanujan in His "Lost" Notebook and Earlier Works, Doctoral Thesis, University of Mysore, 1983.
[2] R. A. Askey, Ramanujan's extensions of the gamma and beta functions, Amer. Math. Monthly 87 (1980), 346-359.
[3] B. C. Berndt, Ramanujan's Notebooks, Part III, Springer-Verlag, New York, 1991.
[4] F. G. M. Eisenstein, Mathematische Werke / Gotthold Eisenstein, Chelsea Publishing Company, New York, 1989.
[5] J. W. L. Glaisher, On the series which represent the twelve elliptic and four zeta functions, Mess. Math. 18 (1889), 1-84.
[6] G. H. Hardy, Twelve lectures on subjects suggested by his life and work, AMS Chelsea Publishing Company, New York, 1999.
[7] C. G. J. Jacobi, Fundamenta Nova Theoriae Functionum Ellipticarum, Sumptibus Fratrum Borntrager, Regiomonti, 1829.
[8] C. -B. Ling, On summation of series of hyperbolic functions, SIAM J. Math. Anal. 5(1974), 551-562.
[9] C. -B. Ling, On summation of series of hyperbolic functions. II, SIAM J. Math. Anal. 6(1975), 129-139.
[10] C. -B. Ling, Generalization of certain summations due to Ramanujan, SIAM J. Math. Anal. 9(1978), 34-48.
[11] S. Ramanujan, Notebook (2 volumes), Tata Institute of Fundemental Research, Bombay, 1957.
[12] J. Schoissengeier, Der numerische Wert gewisser Reihen, Manuscripta Math. 38(1982), 257263.
[13] I. J. Zucker, The Summation of series of hyperbolic functions, SIAM J. Math. Anal. 10 (1979), 192-206.
[14] I. J. Zucker, Some infinite series of exponential and hyperbolic functions, SIAM J. Math. Anal. 15 (1984), 406-413.
[15] K. Venkatachaliengar, Development of Elliptic Functions according to Ramanujan, Department of Mathematics, Madurai Kamaraj University, Technical Report 2, 1988.

